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st oere]  :1.30 wanfl Cprb ] [ Qurss wEHlIQuaTsear @ 40

Time Allowed : 1.30 Hours ] [ Maximum Marks : 40
ofleyenraar : (1) ooasg alamssess sfuresl uglaursl e aiatar aarUgmend &lunTs g

Qaretateynd. Fsluslelle  @apullmlile, o@pnsseartsreaflliumerilb

o Lanqunas Qsilellésald.

(2) ped SO G) S(HLIL e LouSlen e L HCw CT(LPSHIUSD GLD
2lg5Canghausn@d LwuaTURSS Ceuant(Hd. ULLBSET  euaIeusm &

Queéled LWaTLHSSELD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@g =1 / PART - |

GOy : (i) SmaF g allanss@rsEL el wallssayd. 5x1=5
(i)  Ger@ésuu (Harer Brar@ wrmn elmLsalled Blsaw aghyamLw alloLmws
Caih0s(0s8165 GO HLear allamLwWlmeann Csisg er(psaibd.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write the

option code and the corresponding answer.

1. Spssa_ampdle) ergl eafll LHm @6l omaseilar QuIgeTa LaTL 26 6.

(=) seralleneray (=) ©nsSL G allmeray
@) &aflby allenaray () gfluedyssearew
Which of the following phenomenon is hot common to sound and light waves?
(@) Polarization (b) Interference
(c) Diffraction (d) Coherence
2. g7 mew GanrrsSular fo =5 cm, 1 =60004, a = 1 cm erafled ise Emes oy wrg?
(=) 11.9x105/m (<) 10.9x105/m
(®) 10.9x108/m (rF) 10.9x103/m
If fo =5 cm, 2 =60004, a = 1 cm for a microscope, then what will be its resolving power.
(@) 11.9x105/m (b) 10.9x 105/m
(c) 10.9 x 108/m (d) 10.9x103/m
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3. Qe See ppemseT @ilue wporsets @més CearHEweale
(=) @Cr sl gpeamed CaunpulL aiés
(=) @Cr oiSliQeuant gpemed Caugii L al&s
@) &Cr odliQeuant, sL b wHmLd ai&s
(M) Gagul L ofliQeuar, &L LW LHQL I&&
Two waves are said to be coherent, if they have
(a) same phase but different amplitude
(b) same frequency but different amplitude
(c) same frequency, phase and amplitude
(d) Different frequency, phase and amplitude
4. BpiGsmed L L &b audlunss Qeaid eafl :
(=)  Waigih seTalleneme| oL u|b (=) uESl saallmere] LD
(&) peTaulLorss g;m@ﬂmmm b (FF) g,m@ﬂmmeq S{EOL_LLITG)
Light transmitted by Nicol prism is,
(a) plane polarized (b) partially polarized
(c) elliptically polarized (d) un-polarized
5. wm  @rieclt  Seey gpuielle, Uaejserse  @oLCw  oeer  Ggteesy
BmuLrsrssliuhdng.  Sorle  GCsramld ULl sl LIOTod  B[HES
Gouent HOwaTed, Nares@rs@h Sorsen @arGw o 6rar Qgrame; (D) eeaieere; Gmss
Cauamr(Hd ?
(=) VZD (<) 2D ® = m 3
In a Young’s double slit experiment, the slit separation is doubled. To maintain the same fringe
spacing on the screen, the screen-to-slit distance D must be changed to :

(8 V2D (b) 2D © % @ 3

U@ -1l / PART - 1l
GOy : aamaiCuad prarE allamssens@ allwiwafléseb. allam eranr 11-&@ &L LTwons
aflenLweflssayLd. 4x2=8
Note : Answer any four questions. Question No. 11 is compulsory.
6. amanGaeed CsTaTend &nnis.
State Huygens’ principle.
7. S Liumyenes eTapned eraan? G&@amurl el eralaury & Qeuiwes?
What is myopia? What is its remedy?
8.  Uplemed wpmid LignCenmssui allaflbyy eflenereys@Ens@ PenCuw o arar CaupunBaar
wreney ?

Distinguish between Fresnel and Fraunhofer types of diffraction.
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wrodler allglows g mis.

State Malus’ Law

satallenerey &8l LHYID setallomarey L wIal CTeTDIE) 6TE an?

What are polariser and analyser?

@M GN&S.H llmare] augamblilled B masalla QebdleyseEnsE QoL Cuwrer
Alflsd 36 : 1 aalle), @msslhn Qm oasdla alésserseE o Cuuwra &l
cTeleIETa| ?

The ratio of intensities of two waves in an interference pattern is 36 : 1. What is the ratio of the

amplitudes of the two interfering waves?

ugsl - Il / PART - I

GOy : aaaiCuad prarg allamssens@ allwiwallsseb. allam eranr 17-&@ &L LTwons

Note

12.

13.

14.

15.

16.

17.

@ﬂml_u_laﬂéaaamlb. 4x3=12
. Answer any four questions. Question No. 17 is compulsory.
GOISEL 0 allmeareys@Ld, allaflby allmarals @ o arer CaumgurBser wWrames ?
What are the differences between interference and diffraction?
gILiuTienes Geanputhenw pUT @eflame Gsefleursls LUTFés Qued GoDHELIL &8
Qsrepavay 75 cm. @é@apur oL & sfldsweashEl LwauBssiuL Gauamriqw GQee &l
Snenens smewts.
A person has farsightedness with the far distance he could see clearly is 75 cm. Calculate the
power of the lens of the spectacles needed to rectify the defect.
Curermiiq e LIWETSEET o m)s.
Give the uses of Polaroids.
ymevL alldleows s, igmen BhpUlssabd.
State and prove Brewster’s law.
sl LOs@smer LpdlE fln GOy auers.
Discuss about pile of plates.
salés QararL @rav(h g6l pomsea Enssl () allmerames gHUBSS S Dar. QUL
wHmd S elECedleise@rsE GarCuujarer alldlssms srams.
Two light sources of equal amplitudes interfere with each other. Calculate the ratio of maximum

and minimum intensities.

[ &lmLiys / Turn Over

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com

125057

4

U@ = IV / PART - IV

GOy : Smasg allamssE@rsEn allalwallssaLb. 3x5=15
: Answer all the questions.

Note

18.

19.

20.

(<)

eremw e Geanmma sl gadlamer allauflsg), oiammennliyerall GallwlLBSgse wHHID
QueLloas GalwlL(Sgs0d gnu@L o HLOUIHSSE&EHhSSTEn FLOETUM(HSEMETL]
Cums.

DG
gl (H meCané sl garplman allauflss s o BLALMmEssSSharar Caramauanu
Cumis.
Explain about simple microscope and obtain equation for magnification for near

point focusing and normal focusing.
OR

Explain about compound microscope and obtain the equation for the magnification.

analue QsranaCprsd updl allaifsg), ogear o BHUAUMSssSSIHaTa CarmaeiamuL]
Cumis.

DO ag)
manQaaiad §586usslar gLt wle eadlarmeilly allgleamer Hloml.

Explain about Astronomical telescope and obtain the equation for the magnification.
OR

Prove law of reflection using Huygens’ principle.

gnep Warallame gnuBnd alleflby ellmerallemar allauflsg n-eug &miosg Sl smer
Blupsmaews Qupis.
DO g
wr @l enUllerey puialley QupLiLBL Ll swsslherar CaramaeienwL
Cumis.
Discuss the diffraction at single slit and obtain the condition for nth minimum.
OR

Obtain the equation for bandwidth in Young’s Double Slit Experiment.
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